FDSJ280D2

10 10
15 905 15 430 7
100 100 ]
(0ooooooo) F J
3 115 115 LI I L
= INEE= 100 1
~
. 5 S
<o s}
< |5 L L, 384
= 7] < ——m
B (5] 1o]
[}
o < og -
<5 320 g b S‘s 8 (DDEE% v
4
307.5 200
200 PAEL 0o oo
L, 500 50
AD@OOODDO0) L 50 500
875 585 Ls 50 50
_ A 10 875 L. 700 700
g / E
0oq 0O 0O
o
oooo N o AD|000DO0O0DOO0 2858000000
2 364.5 73 K BO|0O0OOOO0O0 91588000000
§ _ : l I cO|000000000 |PT10025A0
wn
D 0 s po|0OoOooon e30000000
oooooo \ ED|000D00O0O e30000000
o —
S Y FO|0O0O0O oooooooon
N ~
© === S ™~
- i ii i Q 311 J co|0000 5]
i ij100] 298 S Ho|Oooooo O
H oo
| Il o
ol § m\/ S . J0|0000000000 |p800000OO0
[ N b 5 K |00ooooo p60000000
G % 3 8] 0()0000000000000000000000000000
S = 0(O00000000000000000000000
3 S c 0B0000000000000000
825 0000000000000 00000000000
00000000000000000
20 105
935 5 205 000000000000000
A E 445 O()0COEJ,KO0000D00000000000
(2) ODODDODOOO
AUCJ140H
goooobbooooboobooo
185 580 185
70 —_—
vl W ood
0l 8 ooo
7 ﬁ F § g L2 Q B oo o 0 0
R . Q&:'E L1 |00 [oo[s00
8 3 A ane L2 300 o |[oO
1 AU AN [E L3 |150[300] 150
B wl o oooo
@ g N vl © (LH_ILU L4 0 0 0
noooooooo ” /| Is2 &
(vl
DDED]DDDZIQ.OS; o() DooooooDoo
DMIOD4DDDEDD[D]DD@952 30 (?) DODODOO0O0O0O0O0O000000000000000
—_— 60 (3) DODDOOODODOOOO00DODODOO0ODODOO0O00DOOO
(4)

00000D000IM0000000000000000
oooooooogo

950 000000000
272
] —
° oooooo
& ogso00 o =
S b=l oooooo
Sfa]sfsfs]sfs]s]s 025000
0@2500 ooooOooooo DDE‘;%D
02500 30
——————— ' [ —
of 8 8 8 g w 3l @ %
g8 a A R 28 g1 =
Illl.30 \oooooooooo 240 30|l \ \oooooooooo
60 U@3700 0oo0ooooog 280 50 H@4aa00
75 0@3700 285 60 | 00oooo

Ogso000



